10 9 8 5 4 3 2 1
SPE FEMALE 11.3 -
FRONT VIEW 8.6
F
© © —
v v ——
(é éD ﬁ z /
E PCB LAYOUT TOP VIEW U{ \:':”
10.0 o
9.0
~ ™ 3x 0.8
2.8 \ =™
“- " 2x 0.6
-
3x 1.0
D POSITION A\POSITION N =t
\ ; o - |+
vd N § e =
N
v < Q Q / A o *\J{m@g
®'\’ GND GND foo) § 2/ < A
o5t GND ,E, || e B
O <D A o
> ® JPOSITION N~ (o)) ‘9 :Eﬁ} - <
’ < < ™ =
T d Nam '
4 < Sy
2.8 *
7\ | B | -
U U <r.¢ 9.0
L N gt |
r 10.0
-t -
NOTES:
1. VOLTAGE: 60 V AC
B 2. CURRENT: 4 A AC
3. DATA RATE: 10 Mbit/s // 100 Mbit/s // 1 Gbit/s // 2,5 Gbit/s 5 Gbit/s / 10 Gbit/s
4. STATIC TEMPERATURE: -40 °C TO 80 °C
5. DYNAMIC TEMPERATURE: -25 °C TO 80 °C
6. MATING CYCLES: 1000
7. PROTECTION: IP67 F%AYJ(AZAESFQL 'waiN[;ITOA:VlIJl:IGT SCON'I':éTfEINFORMATION THAT IS PROPR’.IETARYTO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
8. PACKAGING IN TRAY WITH 50PCS W- o mm 51 CURRENT REV DESC: ADD PACKAGING molex
glED(:EGS3C1;|7,\1] E6D ACC W GENERAL TOLERANCES
- = 0 (UNLESS SPECIFIED)
IEEE 802.3bu Wz 0 ANGULARTOL £ 107 |- \o: 770582 PCB JACK M12 STRAIGHT 8 MM
IEEE 802.3cg R 4PLACES |t DRWN: MBLOESER 2023/12/04
3 PLACES + CHK'D: RSILLER 2023/12/05
A :EEE ggzggw S e - o5 |APPR. RSILLER 2023/12/05 PRODUCT CUSTOMER DRAWING
IEEE 8023 E CONTACT SIGNAL 1 PLACE . o I;hg\'l\rll'ﬁl_ SE:/(;SElsoE,\é 2022/09/22 DOCUMENT NUMBER DOC TYPE| DOC PART|REVISION
. 1 BL_DA+ optaces [+ 02 |APPR: THAERDT 2022/11/02 2209570005 PSD| 000 | A1
2 BL DA- DRAFT WHERE APPLICABLE | THIRD ANGLE PROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
DOCUMENT STATUS | P1 | RELEASE DATE | 2023/12/05 16:21:30 | = T s @ -E=F | A3-SIZE | 220957 | 2209570005 | GENERALMARKET | 1OF 2
g 9 8 5 4 3 2 1



10 9 8 7 6 5 4 3 2 1

F B-B (1:2)
1 | 1 | ! | l 1 1 |
1 | I | ! I 1 ] 1 I rr—u_‘-« 2
‘—I__":- - | :]j:u I = E
' ; L SRSt T S
| -
(1:2) i
view without cup
E
pick point & /,é
point of gravity _J i
U
- 13
= (3:1)
P = laser printing
~ — =
maios § O | 10 | =
~ [l =
9x 22 [=198) molex logo 0,6
215 last digifs of
C Single-Pair-Ethernet logo 2 production batch number

font IS0 3098-AVL-15

B
50 pcs per fray
FUNCTIONAL | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
SYMBOLS [DIMENSIONUNITS|  SCALE | CURRENT REV DESC: ADD PACKAGING
- of_mm_| 11 SRR molex
GENERAL TOLERANCES
W= 0| (UNLESS sPECIFIED)
ANGULARTOL t 1.0°
W= 0 ECNO: 770582 PCB JACK M12 STRAIGHT 8 MM
4PLACES |t DRWN: MBLOESER 2023/12/04
Ds'¥'ﬁ§%“f§L 3PLACES |t CHK'D: RSILLER 2023/12/05
A Soaces T oos |APPR. RSILLER 2023/12/05 PRODUCT CUSTOMER DRAWING
INITIAL REVISION DOCUMENT NUMBER DOC TYPE| DOC PART | REVISION
1 PLACE 3 0.1
DRWN: MBLOESER 2022/09/22
OPLACES |+ 02 |APPR: THAERDT 2022/11/02 2209570005 PSD| 000 | A1
DRAFT WHERE APPLICABLE | THIRD ANGLE PROJECTION DRAWING SERIES MATERIAL NUMBER CUSTOMER SHEET NUMBER
MUST REMAIN G
DOCUMENT STATUS | P1 | RELEASE DATE | 2023/12/05 16:21:30 | WITHIN DIMENSIONS A3-SIZE | 220957 GENERAL MARKET 20F2

BOCUM
e 9 8 7 6 5 4 3 2 1
T,



10 9 8 6 5 4 3 2 1
SPE FEMALE
FRONT VIEW
M16x1,5
(@ = ) M12x1 _ A
o \, 0
é é@ = = '
_|_ ]
n n ‘ A (7))
PCB LAYOUT TOP VIEW
10.0 R . Y
L O [o0)
9.0 - o
7.8 X <
- ™ ™
2.8
-
2x 0.6
4>
3x 0.8
4>
POSITION POSITIPN [ A\
o ‘ M | | ¥ | A 3x 1.0
\t/ C == ]
IV VSN o
(.1’ GND \TJ Y ) S L
®'\ GND | | N N
1 1 I 1 o
fb'\‘ GND ! < © — ==
S <D ki ii ™~ S =
) A o Y N
I ' ™ o
°3+ {J POSITION N ol N L@u U-@-U o 3
© — : . > N
v ﬁ
NOTES:
1. VOLTAGE: 60V AC
2. CURRENT: 4 AAC
3. DATA RATE: 10 Mbit/s // 100 Mbit/s // 1 Gbit/s // 2,5 Gbit/s 5 Gbit/s / 10 Gbit/s
5. DYNAMIC TEMPERATURE: -25°C TO 80 °C
6. MATING CYCLES: 1000 /\
7. PROTECTION: IP67
8. PACKAGING AS KIT
9. DESGINED ACC.
IEC63171-6
IEEE 802.3bu
IEEE 802 3 FUNCTIONAL | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
.oCg SYMBOLS [DIMENSIONUNITS]  SCALE [ CURRENT REV DESC:
IEEE 802.3bw - 0| mm 2:1 m I
IEEE 802.3bp il (14-2 10-1) > W GENERAL TOLERANCES o ex
IEEE 802.3ch - (1 0 1) o W= 0| (UNLESS sPECIFIED)
) 5.75 =0. ANGULARTOL : 1.0° ECNO: 726259 PCB JACK M12 STRAIGHT 8MM FRONT MOUNTED
W: 0lsptaces |- DRWN: MBLOESER 2022/11/02
BILL OF MATERIAL Dé¥ﬁé%'\tgL SPLACES - CHKD: THAERDT 2022/11/02 PRODUCT CUSTOMER DRAWING
ITEM|QTY[MOLEX PN | DESCRIPTION MATERIAL FINISH/COLOR zpiaces |2 oos |APFR THABRDL memllesl ST R
1 1 [2209570005 | PCB JACK M12 STRAIGHT 8MM | METAL GREEN CONTACT | SIGNAL LA o' lDRWN: MBLOESER 2022109123 2909570006 psp| 000 | A
2 |1 [2209570012|SHELL M12 FRONT MOUNTED |BRASS Ni 1 BL_DA+ RO el
DOCUMENT STATUS | P1 | RELEASE DATE | 2022/11/02  13:30:22 | 2 BL_DA- T s @ -E=F | A3-SIZE | 220957 | 2209570006 | GENERAL MARKET | 1 OF 1
revson 1) 9 8 5 4 3 2 1




10 9 8 6 5 4 3 1
SPE FEMALE
FRONT VIEW
F
M16x1,5
2 \
Y 1
4 A\ 4
(é éD | . v
M12x1 Nk i o
E ol oS
PCB LAYOUT TOP VIEW i | <~ X
10.0 ~ &
9.0
- > SW 18 SW 19 -
2.8 1
- CDfL'\’
Jr
N
D & -
POSITION POSITION
% ‘ ¢ 7
1 o &
o0 LT o
Q’\('L GND GND ‘ I f
(5\‘ GND q-T
Q - ' 2.8
o - 3x 0.3 ~
n
. o3 . D S ~ o o 2x 0.6 9.0
Q- AR S N
@ 3x 1.0 10.0
ar >
2x 0.6
NOTES:
1. VOLTAGE: 60 V AC RECOMMENDED PANEL CUTOUT
2. CURRENT: 4 A AC
3. DATA RATE: 10 Mbit/s // 100 Mbit/s // 1 Gbit/s // 2,5 Gbit/s 5 Gbit/s / 10 Gbit/s /_\
4. STATIC TEMPERATURE: -40 °C TO 80 °C
5. DYNAMIC TEMPERATURE: -25 °C TO 80 °C
B 6. MATING CYCLES: 1000
7. PROTECTION: IP67
8. PACKAGING AS KIT
9. DESGINED ACC.
IEC63171-6
IEEE 802 3bu (- (142 101) — FUNCTIONAL | THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX ELECTRONIC TECHNOLOGIES, LLC AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
\EEE 8023 ( ) SYMBOLS [DIMENSIONUNITS]  SCALE [ CURRENT REV DESC:
-5cg = (15.75=0.1) —» -0l mm | 2:1 I
IEEE 8023bW W GENERAL TOLERANCES mo ex
IEEE 8023bp Wz O (UNLESS SPECIFIED)
IEEE 802.3ch Wz 0 jtii:;?m * " lecNo: 726259 PCB JACK M12 STRAIGHT 8MM BACK MOUNTED
BILL OF MATERIAL BT sroes |- |oiD: THAERDT | sozaios
A SYMBOLS APPR: THAERDT 2022/11/02 PRODUCT CUSTOMER DRAWING
ITEM | QTY |MOLEX PN | DESCRIPTION MATERIAL FINISH/COLOR CONTACTSIGNAL 2PLACES |+ 008 L e e TPE[ oS PR RV
1 1 |2209570005 | PCB JACK M12 STRAIGHT 8MM | METAL GREEN y 5L DAs o DRWN: MBLOESER 202211013 2209570007 psp|00o| A
2 |1 [2209570011]SHELL M12 BACK MOUNTED | BRASS Ni > L DA AR APGIE | MDA E RO RO | SRR~ SeRES [FoTemp OmBER——[eOsToeR
DOCUMENT STATUS | P1 | RELEASE DATE | 2022/11/02  13:30:24 | = T s @ -E=F | A3-SIZE | 220957 | 2209570007 | GENERALMARKET | 1 OF 1
revson 1) 9 8 6 5 4 3 1




